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962 FORMAT(I4,8F10.6,F7.1,EI3.5' 
3 FORMAT(IHO,2X,6HTIME= ,EI4.8,4X,5HUFS= ,Fl4.8,4X,5HXFS= ,E14.8,4X, 

-7HCVCLE= ,I4,3X,1HJPMAX= ,14,3X,7HJCRIT= ,14f2X) 
END 
SUBROUTINE GRAPH4(A,B,C,D,N) 

COMMON IC3CTRLI COUNTS,JSTAR,JPE,JP6,JQUIT,LAST,CVCLES 
COMMON fC4FLOWI U(300),V(300),X(300),Q(3001,P(300),E(3001,QA,VN, 

1 MASS(300),CSP(3001 
COMMON IC7GNRLI AlP,OPTION,CONA,CQ,LEFTP 

REAL l,MASS,LINEAR,lEFTP 
nIMENSION A(NI, B(N), C(N), O(N), POINT(41, GRAPH(l221 
DATA POINT/IHA,IHB,IHC,lHOI 
nATA MSWTCH,BLANK,PERIOD/O,lH ,IH.1 
M=4 
IFOISWTCH.EQ.I) GO TO 50 
AMAX=D(11 
AMIN=D(1) 
00 1 1=1, N 
IF(AMAX.LT .D( I)) AMAX=D(l1 

1 IF(AMIN.GT.D(lI) AMIN=O(l) 
GO TO 2 
ENTRV GRAPH3(A,B,C,N) 
M=3 
IF(MSWTCH.EQ.l) GO TO 50 
AMAX=C(I) 
AMIN=C(1) 

2 DO 3 1=1, N 
IF(AMAX.LT.C(I)) AMAX=C(II 

3 IF(AMIN.GT.C(l)) AMIN=C(J) 
GO TO 4 
ENTRV GRAPH2(o\,B,N) 
M=2 
IF(MSWTCH.EQ.l) GO TO 50 
AMAX=B(l) 
AMIN=B(l} 

4 DO 5 1 =1 ,N 
IF(AMAX.lT.B(I)) AMAX=B(I) 

5 IF(AMIN.GT.B(Il) AMIN=B(I) 
GO TO 6 
ENTRV GRAPH1(A,N) 
M=1 
IF(MSWTCH.EQ.11 GO TO 50 
AMAX=A(l. 
AMIN=A(l) 

6 DO 1 1=1, N 
IF(AMAX.LT.A(II) AMAX=ACI) 

1 IF(AMIN.GT.A(I)) AMIN=AClI 
50 SC=(AMAX-AMIN)/120. 

WRITE(6,100) AMIN,AMAX,SC,(PERIOO,I=1,1211 
100 FORMAT(IHl,17HRANGE Of GRAPH IS,F15.8,8H THROUGH,F15.8111X,11HSCAL 

lING FACTOR IS,F15.811105X,21Hllllllllllllll1111111/15X,lllHllllll1 
2111222222222233333333334444444444555555555566666666661777777177888 
3888888R9999999999000000000011l11111112/6X,120H12345678901234567890 
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4123456789012345678Q01234567890123456789012345678Q01234567890123456 
57890123456789012345678QOlZ34567890/5X,lZlA11 

DO 8 l=l,N 
DO 17 J=1,121 

17 GRAPHCJ)=BlANK 
GO TO C9,10,11,lZ),M 

12 K4=COCI)-AMINI/SC+1. 
IFCK4.lT.0.OR.K4.GT.122) K4=122 

11 K3=CC((I-AMIN)/SC+l. 
IF(K3.LT.O.OR.K3.GT.1ZZ) K3=122 

10 K2=CB(I)-AMINt/SC+l. 
IF(K2.lT.0.OR.K2.GT.122) K2=122 

q K1=(A(It-AMIN)/SC+l. 
IF(Kl.lT.0.OR.K1.GT.122) Kl=122 
GO TO (13,14,15,16),M 

16 GRAPHCK4)=POINT(4) 
15 GRAPH(K3)=POINTC3) 
14 GRAPH(K2)=POINTCZJ 
13 GRAPH(Kl)=POINT(l) 

IF(GRAPH(121t.NE.RlANKJ GRAPHC120J=GRAPHCIZ1) 
WRITEC6,10It I,CGRAPHCIlt,Il=1,120J 

101 FORMAH2X,I3,lH., 120AlJ 
B CONTINUE 

MSWTCH=O 
RETURN 
ENTRY MANUAl(A1,A2J 
AMAX=A1 
AMIN=A2 
M SWTCH= L 
RETURN 
END 
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